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ill Ratios and Rates
Use the table to write each ratio.
1. angel fish to tiger barbs Caroline’s Pet Fish
2. redHtail sharks to clown loach Tgor Barbs, J
. rec il sharks to clown loaches Catfish 1
3. catfish to angel fish Angel fish 4
4. clown loaches to tiger barbs Red-tail sharks 1
Clown loaches 3
5. catfish o red-tail sharks
6. Write three equivalent ratios to compare the
number of black triangles in the picture with
the total number of triangles.
Use the table to write each ratio.
7. gray male kittens to gray female kittens Cargines Kittens
White | Gray
8. white female Kittens to white male kittens Male 3 2
Female 5 5

9. A candy store sells 2 ounces of chocolate for $0.80 and
3 ounces of chocolate for $0.90. How much does the store
charge per ounce for the 2 ounces of chocolate? How much
does the store charge per ounce for the 3 ounces of chocolate?

Which is the better deal?
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IEW Ratios and Rates
Use the table to write each ratio.

1. lions to elephants

2. giraffes to otters

3. lions to seals

4. seals to elephants

5. elephants to lions

6. Write three equivalent ratios to compare
the number of diamonds with the number
of spades in the box.

Animals in the Zoo

Elephants 12
Giraffes B
Lions. 9
Seals 10
Otters 16

.Q RQQ

®»

a9
.*’;

Use the table to write each ratio as a fraction.

7. Titans wins to Titans losses

8. Orioles losses to Orioles wins

9. Titans losses to Orioles losses

10. Orioles wins to Titans wins

Baseball Team Stats
Titans | Orioles
Wins. 12 9
Losses 14 15

11. A 6-ounce bag of raisins costs $2.46. An 8-ounce bag
of raisins costs $3.20. Which is the better deal?

12. Barry eams $36.00 for 6 hours of yard work.

Henry earns $24.00 for 3 hours of yard work.

Who has the better hourly rate of pay?
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Problem Solving

Ratios and Rates

Use the table to answer each question.

Atomic Particles of Elements

Element Protons Neutrons Electrons
Gold 79 118 79
Iron 26 30 26
Neon 10 10 10
Platinum 78 117, 78
Silver 47 61 47
Tin 50 69 50

1. What is the ratio of gold protons to
silver protons?

2. What is the ratio of gold neutrons to
platinum protons?

3. What are two equivalent ratios of the
ratio of neon protons to tin protons?

4. What are two equivalent ratios of the
ratio of iron protons to iron neutrons?

Circle the letter of the correct answer.
5. Aratio of one element's neutrons to
another element's electrons is
equivalent to 3 to 5. What are those
two elements?

A iron neutrons to tin electrons

B gold neutrons to tin electrons

C tin neutrons to gold electrons.

D neon neutrons to iron electrons
7. Which element i the table has a

ratio of 1 to 1, no matter what parts

you are comparing in the ratio?

A iron C tin

B neon D silver

6. The ratio of two elements’ protons is
equivalent to 3 to 1. What are those
two elements?

F gold to tin
G neon to tin
H platinum to iron
J silver to gold
8. If the ratio for any element is 1:1.
which two parts is the ratio comparing?
F protons to neutrons
G electrons to neutrons
H protons to electrons.
J neutrons to electrons
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Puzzles, Twisters & Teasers

Cool Runner!

Fill in the crossword puzzle. Unscramble the circled letters to
solve the riddle.
Down

1. A comparison to 1 of somethingisa —_ rate.

2 & 4. Hector eams $24 for 3 hours of work, while Myma eams
$17 for 2 hours. We would say Myma's rate is a
2 4

3. A comparison of two quantities using division.
6. The ratio of boys to girls is 5:1. Number of girls if there are
10 boys.
Across

5. ratios are different ratios that name the same
comparison.

7. The number of boys when the ratio of boys to girls is 10: 3 and
the number of girls is 3.

8. The middle word when you read 10:7
(en_ sevem).

9.A compares two quantities that have different
units of measure.

What runs but never gets out of breath?
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